EHE 3.2 (Gundlach [15])
(1) O(z) € Ms(Tx).
(2) () D H2 EDBKIE, D={2€ H? | 21 = 2, } LOR& T-FH.
(3) f € Mi(Tk) »2D(f) =0%25I%, f/0 € My_5(T'x).
(4) O(22,21) = —O(21,22)  ((21,2) € H?).

M¥*¥(Tg) = {f € M(Tx) |f(21, 22) = —f (22, 21)}

B EH324&Y, 0 e M (k).
feM:(Tg) »2D(f) =0R5IX, f/0% € M*(Tk).
k%2 EDBHELTSD. Re(s+k) > 21280 T

Gi(z, 8) = Ck (k)™ > N(mz +n)"¥|N(mz + n)|~*

(m,n)€(o g X0 i) /U ~{(0,0)}

(m,n)=1

EREDB. (k(s) = Y osacor N(@)™° 1& K D Dedekind ¥ — & BIE.

Gr(2) = $lirgrklon(:»:,s)
EBL. EDORBHET hy, he, ho BENTN, Gp,G6,02 LB X
X 3.3 (Gundlach [15]) Mg, (Tk) = C[G2, Gs, 0%,
m a4

ha bg 1"’
(1—1t2)(1—5)(1—¢19)

> " dim Mg, (Tg)t* =
k=0

feMTx) ik

Flar,22) = 5(f(en,22) + Fom2) + 3 (F (o1, 2) = F o 2)
851 i M*(Tx) 7T, % 2 Hik M%v(T') Dt
M(FK) = MS(FK) + MS(FK)@.

f € MyTr)TD(f) #0LBBEDREDTH/ING weight EHDEDER
3.

[ € Mi(Tx) D& ¥ D(f) € Sor(T1). kIFFEAENS, 2k = 2 (mod 4).
M) DT, co T2 DFERZED2EDDE/ND kiZ 15. Gundlach iX h €
M3 (Tk) TD(h) =c-geA2 (Fc#0) 2ALTHDEERERU . f e M5,(Tk)
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